8- 9FLFDE A=REB-A—TUHBEH B=#HX -JTOv/HiBEK
NE iz K4 BEIRAUL | REERAUL | MRARAUF | R—FR
1 ‘A AHVE 104.00 60.00 44.00
2 |ZH EAL 89.00 45.00 44.00
3 |FEH Xk 43.50 15.00 28.50
4 WHE =E 43.20 25.00 18.20
5  |3HIK IDES 37.70 37.70
6 RE B 36.55 25.00 11.55
7 HE UV 29.20 25.00 4.20
8 hiZE £k 27.65 17.50 10.15
9 |JkH =H 22.70 22.70
10 [J[RE VLD 20.90 12.50 8.40
" Ihg F= 20.00 20.00
12 | & 18.00 18.00
13 |[RE #k 11.30 11.30
14 |PE KBE 10.50 10.50
15 |FHEEZER 8.40 8.40
16 |BXK &BF 7.00 7.00
17 (E@R £ 5.30 5.30
17 |#AKR kil 5.30 5.30
19 [HE Bt 4.70 4.70
20 |E\A HM 4.20 4.20
20 |BFfE #A 4.20 4.20
22 |t b BEF 3.30 3.30
23 (At TF 3.00 3.00
24 |MME #kF 2.80 2.80
24 ;I =k 2.80 2.80
26 |REE /INE 2.60 2.60
27 |TE EfE 250 250
27 |5EAR FEF 2.50 2.50
29 |PA[ER HEE 2.15 2.15
29 |AAA tHEG 2.15 215
3 |fEH F% 1.90 1.90
32 |HH B 1.80 1.80
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